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RRFBRICRDIREEEZRKIR
(—RXRAER FZEHER)

G Misk B,

ZBIEZEFR(NO,) F iR IR E (SPM) FALFEFF A4 ROy)
HEHED SEZD B4 REDH
s | FTHIE [ =i FFEHE 2%5@% EF‘aﬁEliFi}JﬂE’C“ ST 2% 2 W) == 1 BfEE =1
98%fE X1 - 0.10mg/m°A2H L E FEHE FEHIE X3
) EHELE-CEDEE )
ppm mg/m?® K8 | B ppm
R1 0.011 0.023 @) 0.016 0.039 i O @) 0.034 0.050 X
H30 0.011 0.026 O 0.019 0.050 i O @) 0.034 0.050 X
H29 0.013 0.025 @) 0.017 0.037 i @) @) 0.035 0.051 X
H28 0.014 0.028 O 0.016 0.036 i1 @) @) 0.033 0.050 X
H27 0.014 0.027 @) 0.022 0.047 i @) @) 0.034 0.049 X
H26 0.015 0.028 O 0.023 0.054 i @) @) 0.033 0.050 X
H25 0.016 0.032 @) 0.022 0.063 i1 O @) 0.030 0.046 X
H24 0.016 0.033 O 0.020 0.044 i @) @) 0.031 0.046 X
H23 0.016 0.032 @) 0.021 0.047 i @) @) 0.030 0.046 X
H22 0.017 0.032 O 0.023 0.052 i O O 0.032 0.049 X

X1 ZERE B R OFHE A AL B 0O FRI8%E (FRID B FHENSRIEEDIEL A A SEZ TI8Y%) H30.06ppml FTHDHZE
X2 BRI F IR E DA A %O <EHIEHED (39 R TO B EHEAY0.10me/m* LU T T1EFRIEAY0.20me/m* LI R THADZ &
CEHASHED (X B FHE2% R H0.10me/m* U FTHY .. Hh 2. ERMEELTHFHEN0.10me/m Z#8 % 2 HA2H L EE#H LA &
X3 HALREA XA OIS & IT R (5~ 208%) O 1FEREEH0.06ppm L FTHBHZ &
x4 BEEE., FRISHRNOFERB/HETELS,
HE: BE)|BAR—LR—(KRFBELEBERER)




RRFRICRDIREEEZERKR
(BBEHFLEARAERS BFELE)

S Witk &

ZERIEZEHR(NO,) R IR E (SPM) BN FIRPE(PM2.5)
wr |FTom| SPO0 | g | wree| S1T | #mMATSET | a@me s Pl | sk
X1 0.10mg/m°H2HLLE
ppm mg/m?® EfLIc O REA | 55HA tg/md R# | =88

R1 0.017 0.030 O | 0017 0.043 m O| O 9.8 25.9 O| O
H30 0018 0.032 O | oo1s 0.052 = O| O 113 30.5 O| O
H29 0018 0.032 O | oo1s 0.038 = O| O 11.9 26.6 O| O
H28 0.02 0.034 O | oo18 0.042 m O| O 117 25.9 O| O
H27 0.021 0.035 O | 0024 0.070 = O | x 13.7 33 O| O
H26 0.023 0.036 O | 0025 0.059 = O| O 148 38.2 O | x
H25 0.023 0.037 O | 0020 0.056 3 O | x 14.6 36.6 O | x
H24 0.025 0.040 O | 0024 0.050 i3 O| O — — ol
H23 0.024 0.039 O | 0027 0.060 m O| O — — ol
H22 0.026 0.041 O | 0032 0.064 = O| O — — —

X1 ZEEZEROREBEREEDIE A A H FHDOEREISHE (FERD B FHEMNSHIEEDIENAHNSEZ TI8%) H0.06ppmA T THHZE
X2 A FIRYE DIBEEAE D FEH G E DG (TR TD B FYEH0.10mg/m LA T T1EREEAY0.20mg/m* LA T THZHZ &
<RHIEEED (3 B F19E2%REH0.10me/m AT THY . Hh 2. EMZERLTHTFHEA0.10mg/m*EHB 2 5BH 2B LU EEHLENIE
X3 PM2.5 D IR EEEHE ) 3TH 753K (I <R BASHED (X E T A5 o/ m* AT THDZE
SEEAHED (LERMICh =2 B FHEDSS ., ERH98HEMNI5 4 e/m U T THDHIE
HE #RNEBER—LR—D(KRELERFERER)




%)

¥ sk

A1) 7B R A A (1)

PaplIES - PN 3 AR JI

AR i i (W) BAIERT T/ B

K H C 6H17H | 9H25H | 12H9H 3H6H Ty 6H17H i 9H25H | 12H9H 3H6H B
ERK R 11:30 11:30 11:50 11:10 11:05 11:05 11:15 10:35 -
R - - [ s i s - i i) i 5 -
R (m3/sec) - - - - - - = - 0.091 - 0.091
Rl “c) - 29. 0 29. 1 11.8 13.5 20. 9 29.5 30. 0 11.0 14. 8 21.3
7K i, C) - 22. 2 23.8 14. 9 12. 8 18. 4 22.0 24. 7 14. 2 13.5 18. 6
4 FH - - =R A I =81 . =R 1)) PIERAY- | - WDV K | e | IEGH] | I AE -
B - - 5 A TE B A i 5 e 5L - fiiiN e 5 e 5L 5 -
PR (cm) - >100 >100 >100 >100 100 80 >100 >100 >100 95

p H - 6.5~8.5 8.7 8.4 8.1 7.9 8.3 7.9 8.1 7.8 7.9 7.9
A bR SE k& (BOD) (mg/1) =5 2.1 10.0 1.4 2.2 3.9 2.7 3.3 3.1 4.3 3.4
b2k 3% 38 sk & (CoD) (mg/1) - 3.4 8.6 3.3 4.4 4.9 3.8 4.5 4.3 5.3 4.5
e B (SS) (mg/1) =50 1 11 <1 <1 3.5 7 5 2 4 5
AT 5 (DO) (mg/1) =5 14. 8 12.3 10.9 10.5 12.1 9.4 10. 1 9.3 10.2 9.8
K B FE 2K (MPN/100m1) - - - 2, 800 - 2, 800 - - 17, 000 - 17, 000
No~ 20 U ol 4 B B (mg/1) - <0.5 <0.5 <0.5 <0.5 0.5 <0.5 0.5 <0.5 <0.5 0.5
WU > (T-P) (mg/1) - 0.110 0.270 0.170 0.170 0. 180 0. 150 0. 190 0. 200 0. 240 0.195
R ZEHE (T-N) (mg/1) - 4.6 5.4 5.3 6.9 5.6 3.3 3.9 5.6 5.0 4.5
4 AR g0 (mg/1) 0.03 - - - - - - - 0. 005 = 0. 005
=)V 7 = ) —J)L (mg/1) 0.002 - - - - - - - <0. 00006 - <0. 00006
e (mg/1) 0.05 - - - - - - - 0.26 - 0.26
NN (mg/1) =0.003 — — - - - - - <0. 0003 - <0. 0003
BT (mg/1) M s & — — - - - - - <0.1 - <0.1
& (mg/1) =0.01 - - - - - - - <0. 005 - <0. 005
Sl 7 o A (mg/1) =0.05 - = - - - - - <0.02 - <0.02
it (mg/1) =0.01 - - - - - - - <0. 005 = <0. 005
K ER (mg/1) =0.0005 - - - - - - - <0. 0005 - <0. 0005
7L X LK ER (mg/1) M S nzewnws & - - - - - - - - - -
PCB (mg/1) M Sz s - - — — — — — — — —
R AR (mg/1) =0.01 — - — — — — — — — —
F RS 7o IF L (mg/1) =0.01 — — — - — - — — — —
oA K (mg/1) =0.02 — — — — - = = = = =
VUi bR SR (mg/1) =0.002 - = - - - - - - - -
1,2-Y 7 muax X (mg/1) =0.004 - - - - - - - - - -
vi-l,2-v 7 auaxTF L (mg/1) =0.04 = = - - = = - - - -
,1-YZ7ooxF L (mg/1) =0.1 - - - - - - - - - -
1,1,1-FY 7 opo=x X~ (mg/1) =1 - — - — - - - - - -
1,1,2-h V7o x X (mg/1) =0.006 - - - - - - - - - -
1,3-Y 7 mua X~ (mg/1) =0.002 - - - - - - - - - -
FZ7 N (mg/1) =0.006 - - - - - - - - - -
DAV (mg/1) =0.003 - - - - - - - - - -

F AR T (mg/1) =0.02 = = - = = = - - = =
N (mg/1) =0.01 - - - - - - - - - -
L (mg/1) =0.01 - - - - - - - - - -
135 3 (mg/1) =1 - - - - - - - <0.02 - >0. 02
5o (mg/1) =0.8 - — - - - - - <0.08 - >0. 08
oA P M AR SR M OViH PR 22 37 (mg/1) =10 3.9 3.6 4.6 4.2 4.1 2.5 2.7 4.3 3.9 3.4
o A e M 22 3R (mg/1) - 0. 08 0. 09 0.19 0.19 0.14 0. 09 0.16 0.18 0.2 0.16
IHEE Mz R (mg/1) - 3.9 3.6 4.5 4.1 4.0 2.5 2.6 4.2 3.7 3.3
L, 4= A XY (mg/1) =0.05 - - - - - - — —

T =T PR (mg/1) - 0.09 0. 06 0. 36 0.50 0.25 0.31 0.35 0.76 0.8 0.55




¥

G B

SRR

1) 1 7B R A AR (2)

W) 44 B B JE] )

AT - IR @) T ) T

Bk H C fim 617H [ 9H25H | 12H9H | 3H6H Ty 617H | 9H25H | 12H9H | 3H6H T
BRI EEZ 11:45 12:10 13:25 11:40 - 12:20 12:45 12:55 11:55 -
R - - i H = H il iy = i -
S (m3/sec) - - - - - - = 0.42 = 0.42
S c) - 26. 8 29. 0 10. 3 14. 0 20 31.5 30. 8 10. 5 15. 8 22.2
7 i, C) - 22.5 24. 1 13.0 13.5 18 23.8 23.5 12. 8 15. 2 18. 8
e - - PR I I=R 1R SR I R B2 W IR A 5 W R A B S W R £ | (4,355 B

R - - Fii g 5 e 5 e 5 o o 5 e 5 i 51 -
T (cm) - >100 >100 >100 >100 1 43 60 62 >100 66. 2
p H — 6.5~8.5 7.9 8.3 8.0 8.0 8 7.9 8.2 7.9 8.1 8.0
AWk E e S5 2R & (BOD) (mg/1) =5 1.4 2.1 1.1 2.6 1 1.9 1.7 2.6 3.6 2.5
{22 le 35 22 R & (CoD) (mg/1) - 3.4 3.1 2.6 4.6 3 5.1 3.7 4.7 6.1 4.9
T B (SS) (mg/1) =50 6 1 2 3 18 16 8 10 13
AT FE & (DO) (mg/1) =5 9.5 9.5 10. 5 10. 6 10. 0 9.5 10. 0 11.1 11.5 10.5
KN B R (MPN/100m1) - - 33, 000 - 33, 000 - - 2, 100 - 2, 100
Noos W i 8 = (mg/1) <0.5 <0.5 <0.5 <0.5 0.5 <0.5 <0.5 <0.5 <0.5 0.5
WU > (T-P) (mg/1) - 0.110 0. 150 0. 130 0.220 0.153 0. 150 0.130 0. 430 0.330 0. 260
ez (T-N) (mg/1) - 3.7 4.4 4.9 5.7 4.7 2.3 2.4 7.2 5.9 4.5
4 G (mg/1) 0.03 — - - - - - 0.002 - 0. 002
J =)V 7« ) —)L (mg/1) 0. 002 - - - - - - <0. 00006 - <0..00006
EfﬁTg;’;w“/f/Z”7*/@ (mg/1) 0. 05 - - - - - - 0.016 - 0.016
T RI oA (mg/1) =0.003 — — — - - - <0. 0003 - <0. 0003
BT (mg/1) B Sheno b - - - - - - <0.1 - <0.1
Kzt (mg/1) =0.01 - - - - = - <0.005 - <0. 005
DA EZA =20 (mg/1) =0.05 - - - - - - <0.02 - <0. 02
AL (mg/1) =o0.01 — - - - — - <0.005 - <0. 005
TR SR (mg/1) =0.0005 - - - - - - <0. 0005 - <0. 0005
7L X L K ER (mg/1) M S nmuno b - - - - - — - — —
PCB (mg/1) M Shzns & - - - - - - - - -
KU ooxoTF L (mg/1) =0.01 — — — — — — — — —
F NS v F L (mg/1) =0.01 - — — — — — — — —
D B=R=0 . A (mg/1) =0.02 - - = - - - = = -
Pk R 3R (mg/1) =0.002 — - — — Z = = = -
1,2-Y 7 aax X (mg/1) =0.004 - - - - - - - - -
vi-l,2-Y 7 xF L (mg/1) =0.04 - - - - - - - - -
,l-YZ7uu=xFL o (mg/1) =0.1 - - - - - — - — -
Ll 1l-hVZooxx (mg/1) =1 - - - - = - - = =
1,1,2-hrYrZmau=x X (mg/1) =0.006 - - - - - - - - -
1,3-Y 7 maua a2 (mg/1) =0.002 - - - - - - — - -
FT TN (mg/1) =0.006 - - - - - - - - -
DAV (mg/1) =0.003 - - - - - - - - -
FA N T (mg/1) =0.02 - - - - - - - - -
I AV (mg/1) =0.01 — - - - - - — - -
L (mg/1) =0.01 - - - - - - - - -
[ESolE (mg/1) =1 - - - - - <0.02 - 0..02
N (mg/1) =0.8 - - - - - - <0.08 - <0.08
A e M 22 3R M OV e 22 37 (mg/1) =10 2.8 3.3 4.4 4.6 3. 1.7 1.8 6.3 4.7 3.6
A P A SR (mg/1) - 0.07 0. 05 0.07 0.14 0. 0.08 <0. 05 0.22 0.19 0.14
YEE e R (mg/1) - 2.8 3.3 4.4 4.5 3. 1.7 1.8 6. 10 4.6 3.6
1, 4= AW (mg/1) =0.05 - - — - - — = - -
T e = T PEEE (mg/1) - 0.15 0.23 0.19 0.32 0. 0.14 0. 04 0.37 0.32 0.22




&

£

9 Mk

ANSCHERE T KB R A 5 (3)

POMAIES] " . B JII

A T - i (EW) Wm0k O

K H C ¥ 6H17H | 9H25H | 12H9H | 3HA6H 1y 6 17H [ 9H25H | 12A9H | 3A6H Ty
BRK S - 12:10 12:35 13:45 12:00 12:35 13:05 13:45 12:15 &
R A - - i i = s - i i = i -
D= (m3/sec) - - - - - - - = 0.21 = 0.21
SR C) - 26. 0 29.5 10. 2 11.0 19. 2 27.0 31.5 9.0 14. 0 20. 4
ZK I c) - 24.5 25. 0 12. 9 11.8 18. 6 23. 1 23.5 10. 2 14. 8 17.9
4 FH - - S Funae | MEGHE] | EEGHEN] | EIH D - B 2 U R B D U R A B D W R 8 B D WO K £, -
L - - i A 1 B A I 5 AL ) T R A - I 5 I 5 I 5 o 5 -
L (cm) - >100 >100 >100 >100 100. 0 64 50 95 74 71
p H - 6.5~8.5 8.3 8.8 8.2 8.3 8.4 7.8 8.0 7.8 7.8 7.9
A b R R R B (BOD) (mg/1) =5 1.1 1.6 0.8 5.7 2.3 1.5 1.9 1.4 4.0 2.2
b2l 38 2R B (COD) (mg/1) - 4.0 4.6 2.8 5.7 4.3 4.4 3.2 5.3 5.8 4.7
) B 5 (SS) (mg/1) =50 6 2 1 2 3 14 19 5 6 11
B ire & (Do) (mg/1) =5 10. 2 13.7 11.4 12. 1 11.9 8.2 8.4 10.2 9.1 9.0
PN AL e (MPN/100m1) - - 3, 300 - 3, 300 - - 490 - 490
Noo~2 U il ) B A (mg/1) - <0.5 <0.5 <0.5 <0.5 0.5 <0.5 <0.5 <0.5 <0.5 0.5
WY 2 (T-P) (mg/1) - 0.094 0.110 0. 065 0. 130 0. 100 0.110 0. 100 0.094 0. 190 0.124
REH (TN (mg/1) - 2.3 3.7 3.9 4.6 3.6 2.1 2.2 3.7 5.5 3.4
2 ilidn (mg/1) 0.03 - - - - - - - 0.001 = 0. 0010
J =)L T7 = ) —JL (mg/1) 0.002 - - - - - — - <0. 00006 - <0. 00006
EﬁTg;’”“/k/"W*/m (mg/1) 0.05 - - - - - - - 0.015 - 0.015
I RIwA (mg/1) =0.003 — — - - - - - <0.0003 - <0.0003
BT (mg/1) M Enzawns & - - - - - - - <0.1 - <0.1
oy (mg/1) =0.01 — — - - - - - <0. 005 - <0. 005
N A= (mg/1) =0.05 - = - - - - - <0.02 = <0. 02
s (mg/1) =0.01 - - - - - - - <0. 005 = <0. 005
KoKk R (mg/1) =0.0005 - - - - - - - <0. 0005 - <0. 0005
7 L LK ER (mg/1) B S hzn o L - - - - - - - - - -
PCB (mg/1) AR (A A - - - - - - - - - -
FrUZoooxF L (mg/1) =0.01 - - - - - - - - - -
T hI oo F L (mg/1) =0.01 - - - - - - - - - -
o AR (mg/1) =0.02 - - - - - - - - — —
WE R (A S (mg/1) =0.002 - - - - = - - - - -
,2-Y 7o (mg/1) =0.004 - - - - - - - - - -
viml,2-YZmuaxJg L (mg/1) =0.04 - - - - - - - - - -
L,1-YZ7uoaxTF L (mg/1) =0.1 - - - - - - - - - -
L, 1, 1-hVUZuaoxX (mg/1) =1 - - - - - - - - — —
1,1,2- Y ZooaxXH (mg/1) =0.006 - - - - - - - - - -
1,3-Y 7 oo X~y (mg/1) =0.002 - - - - - - - - - -
F T 7 A (mg/1) =0.006 - - - - - - - - - -
P (mg/1) =0.003 - - - - - - - - - -
FA XTI T (mg/1) =0.02 - - = = = = = = = -
N (mg/1) =0.01 - - - - - - - - — —
L (mg/1) =0.01 - - - - - - - - - -
[ESoES (mg/1) =1 - - - - - - 0.02 — 0.02
N (mg/1) =0.8 - - — - - - - 0.08 - 0. 08
oA e e 2 3R M OV R R 22 3R (mg/1) =10 2.0 2.9 3.2 3.2 2.8 1.5 1.5 2.6 2.3 2.0
o A P e 22 SR (mg/1) - 0.10 0.2 0.07 0.18 0.10 0. 06 <0. 05 0.14 0.1 0. 09
YA (mg/1) - 1.90 2.8 3.2 3.1 2.8 1.5 1.5 2.5 2.2 1.9
LA-T A X (mg/1) =0.05 - - - - - = - -
T U= TS (mg/1) - 0.08 0. 04 0. 30 0.35 0.19 0.10 0.11 0.69 1.90 0.70
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L Mgk

AT K A ARG 2 (4)

W44 H ] JII

B K T > S (E7)__ HAxv 7T (o). Dl

Bk A N 6H17H | 9H25H | 12H9H 376H Ty 6H17H | 9H25H | 12H9H 3760 Ty
AR 1 2] e 9:30 9:35 9:50 9:30 - 9:00 9:00 9:00 9:00 -
R - - ki 7 = i3 - L 7 = ki -
Vit (m3/sec) - - - - - - - - 0.44 - 0. 44
SR C) - 20.5 21.7 6.6 7.6 14.1 25. 0 24. 3 8.0 10. 1 16.9
KR c) - 15. 8 17.3 9.1 8.1 12. 6 18. 0 20. 2 9.6 8.8 14. 2
. FH - - MEfAH ] | MECGHY] | MBI | EEH T - MEfAH ] | MECGHY] L MEESHE ] | EEH T -
L - - dug 5. g 5. g 5. it 5. - dug 5. g 5. g 5. g 5. =
FE (cm) - >100 >100 >100 >100 100 >100 >100 >100 >100 100
p H - 6.5~8.5 7.5 7.7 7.6 7.6 7.6 7.6 7.8 7.6 7.7 7.7
AW b SR liE SR 3R A (BOD) (mg/1) =2 0.1 0.5 0.1 0.4 0.3 0.1 0.6 0.1 0.4 0.3
b2l 38 22 R & (COD) (mg/1) - 0.9 1.2 0.5 0.8 0.9 1.5 1.4 0.8 1.0 1.2
EElE W) B (SS) (mg/1) =25 1 1 <1 <1 1 2 5 <1 <1 2.3
Bk (Do) (mg/1) =7.5 10. 3 10. 1 11.3 11.3 10. 8 10. 1 9.3 11.9 11.7 10. 8
PN L (MPN/100m1) =1000 - - 79 - 79 - - 2, 200 - 2, 200
N-~F Y o hh e & (mg/1) - <0.5 <0.5 <0.5 <0.5 0.5 <0.5 <0.5 <0.5 <0.5 0.5
Y > (T-P) (mg/1) - 0.010 0.018 0.010 0. 005 0.011 0. 065 0.032 0.022 0.077 0. 049
Mz (T-N) (mg/1) - 0.78 0.75 0. 80 0.68 0.75 1.6 1.2 2.2 1.3 1.6
4= 0l 8 (mg/1) 0.03 - - = - - - - <0.001 - <0.001
J =)L T = ) —)L (mg/1) 0.002 — — - - - - - <0. 00006 - <0. 00006
Eﬁ;g;wm/f/xw7j—/ﬁé (mg/1) 0.05 - - - - - - - 0.013 - 0.0130
AN (mg/1) =0.003 - - - - - - - <0. 0003 - <0.0003
BT (mg/1) B Ehzpwn s & - - - - - - - 0.1 - <0.1
7l (mg/1) =0.01 - - - — — — - <0. 005 - <0. 005
SAll 2 e 2 (mg/1) =0.05 - — - - - - - <0.02 - <0. 02
it (mg/1) =0.01 - — - - - - - <0. 005 - <0. 005
KoKk 1 (mg/1) =0.0005 - - - - - - - <0. 0005 - <0.0005
T 7L LK ER (mg/1) A AN - - - — — - - - _ =
PCB (mg/1) B Shans & - = - - - - - - - -
N A== (mg/1) =0.01 — — - — _ _ - _ _ -
F hSrvumaTF L (mg/1) =0.01 — — — — — — - _ _ =
Yoo AKX (mg/1) =0.02 - - - - - - - - - -
Ve bR R (mg/1) =0.002 - - — — = = = = = =

L,2-Y 7o =x X (mg/1) =0.004 - - - - = - - - - -
vi-l,2-Y 7o L (mg/1) =0.04 - - - - - - - - - -
L,1-YZ7uonax-g L (mg/1) =0.1 - - - - - - - - - -
1,1,1I-hVZuaoa=xX (mg/1) =1 - - - - - - - - - -
L,1,2-hrV 7o x X (mg/1) =0.006 - - - - - = = - - -

1,3-C 7 oo Fa~ly (mg/1) =0.002 - - - - - - - - - -
T Z7 A (mg/1) =0.006 — — — — - - - - - -
P a i (mg/1) =0.003 — — - — — - — — — —
F AN T T (mg/1) =0.02 - - - - - - - - - -
O (mg/1) =0.01 - - - - - - - - - -
L (mg/1) =0.01 - - - - - - - - - -
EE S (mg/1) =1 - - - - - - <0. 02 - <0.02
o H (mg/1) =0.8 - - - - - - - <0.08 - <0. 08
A2 R KX OB L2 3 (mg/1) =10 0. 80 0.76 0.76 0.72 0.75 1.2 1.1 1.0 1.1 1.1
HE A A e wE 3R (mg/1) - <0. 05 <0. 05 <0. 05 <0. 05 0.05 <0. 05 <0. 05 <0. 05 <0. 05 0. 05
YRR (mg/1) - 0.75 0.71 0.71 0.67 0.72 1.2 1.1 1.0 1.1 1.1

LA- A %W (mg/1) =0.05 - - - - - - - - -
T BT MRS (mg/1) - <0.04 0. 05 <0.04 <0.04 0. 04 0. 06 <0.04 <0.04 <0.04 0. 05




TRTTHEE K ERA R R (5)

er

Q i

)1 4 BB MY g 1]

KA W fr (ki) Ao (Tit) Ky HiG (i) ALERS B O T i
KA C 6J17H | 9H250 | 12/19A | 3/6H i 6J17H 90250 | 12/19A | 3/6H T 6J17H | 90250 | 12/9A | 3/6H T
PRI 10:00 | 10:10 10:20 10:00 11:15 11:35 11:35 11:10 9:00 9:00 9:00 9:00

PN - - I3 I} & I3 - I3 I} 2 I3 - I3 I} 2 I3 -
ik (m3/sec) - - - - - - - - 0.52 0. 52 - - - - -
SR () - 20.0 22.0 7.8 8.0 1 24. 2 27.8 10.9 11.8 18.7 30.0 27.2 9.2 9.8 19.1
KR ) - 16.2 18.0 9.3 9.4 1 22.0 24.5 11.8 14.0 18.1 21.8 24,2 13.8 14.0 18.5
X - - M B | BB | EEAED | EEET M B | AEY] | EEAED | 14.0 - YTV | DTVE | EEAEY DT VEE] -
R - - e 5L e 5L e 51 e 5L - e 5L 4 5L e 51 e 5L - APER | FER | FES | FREL -
FHHE (cm) - >100 >100 >100 >100 100 >100 92 >100 >100 98 >100 >100 >100 67 92
pH - 6.5~8.5 7.7 7.8 7.7 7.7 7.7 7.7 7.8 8.0 7.9 7.9 7.6 7.9 7.6 7.7 7.7
AW e 3R 2R (BOD) (mg/1) <5 0.3 0.6 0.3 0.9 0.5 0.5 1.1 0.7 1.1 0.9 1.2 1.3 0.9 1.7 1.3
(b H s B oK & (COD) (mg/1) - 1.0 1.3 0.9 1.6 1.2 2.6 3.1 1.9 2.0 2.4 5.8 4,3 4.5 7.3 5.5
T E R (SS) (mg/1) =50 1 1 <1 <1 1 6 10 6 5 7 2 2 5 18 7
BirBFm (Do) (mg/1) =5 10.2 9.5 11.7 11.1 10. 6 9.3 8.5 11.9 11.1 10.2 9.0 8.9 10. 1 9.9 9.5
R A (MPN/100m1) - - - 460 - 460 - - 1, 700 - 1,700 - - 240 - 240
N~ Y (mg/1) - <0.5 0.5 0.5 0.5 0.5 0.5 0.5 <0.5 0.5 0.5 0.5 0.5 <0.5 0.5 0.5
BY (1-P) (mg/1) - 0.021 | 0.021 0.021 0.031 10,024 | 0.053 | 0.068 0.054 | 0.079 | 0.064 | 1.000 | 0.630 0.580 | 0.490 | 0.675
B2 (T-N) (mg/1) - 0. 90 0.85 0.8 1. 10 0.91 1.8 1.5 2.1 2.1 1.9 7.3 6.3 6.4 6.9 6.7
Py (mg/1) 0.03 - - - - - - - 0.001 - 0.001 - - - - -
)N T ) =) (mg/1) 0.002 - - - - - - <0..00006 - <0..00006 - - - - -
Eﬁ;g;"’“w”’””@ (ng/1) 0.05 - - - - - - 0.017 - 0.017 - - - - -
N (mg/1) <0.003 - - - - - - <0.0003 - <0.0003 - - - - -
LyT v (mg/1) BEnRN & - - - - - - <0.1 - <0.1 - - - - -
wm (mg/1) <0.01 - - - - - - <0. 005 - <0.005 - - - - -
YA (mg/1) <0.05 - - - - - - <0.02 - <0.02 - - - - -
it (mg/1) =0.01 - - - - - - <0. 005 - <0.005 - - - - -
MR (mg/1) =0. 0005 - - - - - - <0.0005 - <0.0005 - - - - -
T v LIKER (mg/1) B Shns b - - - - - - - - - - - - - -
PCB (mg/1) B Enn - - - - - - - - - - - - - -
tVZppxFLo (mg/1) =0.01 - - - - - - - - - - - - - -
ThI/muxzF L (mg/1) =0.01 - - - - - - - - - - - - - -
vron ARy (mg/1) =0.02 - - - - - - - - - - - - - -
B RAES (mg/1) <0.002 - - - - - - - - - - - - - -
L,2-Y/pnpoxgy (mg/1) =0.004 - - - - - - - - - - - - - -
yA-1,2-Y 7o F L (mg/1) <0.04 - - - - - - - - - - - - - -
L1I-YZpoxF Ly (mg/1) <0.1 - - - - - - - - - - - - - -
LLl-hVzowxry (mg/1) =1 - - - - - - - - - - - - - -
L1L,2-rYZopoxky (mg/1) =0.006 - - - - - - - - - - - - - -
L3vrzunryay (mg/1) =0.002 - - - - - - - - - - - - - -
FI79UAh (mg/1) =0.006 - - - - - - - - - - - - - -
DA A (mg/1) =0.003 - - - - - - - - - - - - - -
FANVANT (mg/1) =0.02 - - - - - - - - - - - - - -
NPy (mg/1) <0.01 - - - - - - - - - - - - -
Ly (mg/1) <0.01 - - - - - - - - - - - - - -
ESES (mg/1) =1 - - - - - - <0. 02 - 0. 02 - - - - -
o (mg/1) =0.8 - - - - - - <0. 08 - <0.08 - - - - -
TR 2 5 R Ot 2 % (mg/1) =10 0. 94 0. 87 0. 78 . 0. 87 1.5 1.3 1.5 1.5 1.5 6.7 5.6 5.7 6.4 6.1
ol A 22 R (mg/1) - <0.05 | <€0.05 <0.05 <0.05 0.05 €0.05 | <0.05 <0.05 <0. 05 0.05 €0.05 | <0.05 <0.05 <0. 05 0.05
I ER (mg/1) - 0. 89 0.82 0.73 0.85 0. 82 1.5 1.3 1.5 1.5 1.5 6.7 5.6 5.7 6.4 6.1
LA-Y A%y (mg/1) <0.05 - - - - - - - - - - - - - -
TrE=THER (mg/1) - <0.04 | <0.04 0.04 0. 06 0.05 0. 04 0. 04 <0. 04 0.14 0. 07 0.06 0. 04 0.05 0. 08 0. 06




28

=]

6 Mdick

SRISCAEEE (R KE A RS 5 (6)
W4 & i Ji
AT - IR D 00 F T T %k T6
ek H C ¥ 6 17H | 9H25H | 12H9H 376H B 6 17H [ 9H25H | 12H9H 3760 T
R A I ) ) 10:45 10:50 11:05 10:40 9:25 9:25 12:30 9:30 -
N7 - - ki i) = s - i i = 5 -
VL (m3/sec) - - - = - - - - 0.11 - 0.11
Rl C) - 21.0 23.9 8.9 9.6 15.9 27.3 27.5 10.8 10.5 19.0
K I, c) 17. 5 20. 1 10.9 8.4 14. 2 25.5 24,3 12.0 10. 2 18.0
@ AH - - MEfaFH I | MECGHD | MEESHD | @B - MEfA ] | MECGHP] | RGBT | B I
B - - g 5. i 5. i 5. dug B - i 5 i 5. g 5. i 5. -
FRE (cm) - >100 >100 >100 >100 100 >100 >100 >100 >100 100
p H - 6.5~8.5 7.8 7.8 7.9 7.9 7.9 8.2 8.1 8.2 8.1 8.2
AW b le S8 2R & (BOD) (mg/1) =5 0.2 0.7 0.3 0.8 0.5 0.7 1.1 0.7 0.6 0.8
b2k 38 2 R & (COD) (mg/1) - 2.4 2.3 1.8 2.6 2.3 2.8 3.1 2.1 2.2 2.6
CEE ) B (SS) (mg/1) =50 1 1 <1 5 2 1 2 1 <1 1
S F . (DO) (mg/1) =5 9.6 8.3 11.1 11.0 10.0 10.9 9.3 11.3 11.9 10.9
PN (MPN/100m1) - - - 460 - 460 - 1, 700 - 1, 700
N-—~2¢ W 4 ) B (mg/1) - <0.5 <0.5 <0.5 <0.5 0.5 <0.5 0.5 <0.5 <0.5 0.5
# ) > (T-P) (mg/1) - 0.092 0. 087 0. 080 0.110 0.092 0. 087 0.110 0. 095 0. 096 0. 097
¥ 2Z2 3 (T-N) (mg/1) - 2.1 1.4 2.4 2.2 2.0 2.2 1.9 2.5 2.5 2.3
A gn (mg/1) 0.03 - - - - - - - 0. 001 = 0.001
J =)V T = ) — )L (mg/1) 0.002 — - - - - - - <0. 00006 - <0. 00006
Eﬁ;g;w/\/ﬁ ARIT F TR (mg/1) 0. 05 - - — - - - - 0.014 - 0.014
BRI (mg/1) =0.003 - - - - - - - <0.0003 - <0.0003
BT v (mg/1) B Stz & - - - - - - - 0.1 - <0.1
&n (mg/1) =0.01 — - - — — - - <0. 005 - <0. 005
N A= (mg/1) =0.05 - - - - - - - <0. 02 - <0.02
it (mg/1) =0.01 — - - - - - - <0. 005 - <0. 005
KGR (mg/1) =0.0005 — - — - - — - <0. 0005 - <0. 0005
7L L KSR (mg/1) i Sz o & - - - - - - - - - -
PCB (mg/1) B Enins & - - - - - - - - - -
Ky ZrZoogx—F L (mg/1) =0.01 — — — — — — — — — —
F RS 7o F L (mg/1) =0.01 — — — — — — — — — —
ruaua AL (mg/1) =0.02 - - - - - - - - - -
LB A S (mg/1) =0.002 - - - = - = - - - -
1,2-Y 7 auax X (mg/1) =0.004 - - — — - - — - - —
vi-l,2-Y 7 oI L (mg/1) =0.04 - - - - - - - - - -
L1-YZ7uaxTTF L (mg/1) =0.1 - - - - - - - - - -
1,1, 1-hU ooz (mg/1) =1 - - - - - - - - - -
1,1,2-h Y Zwoox X (mg/1) =0.006 - - - - - - - - - -
1,3-Y 7 vuna Fuay (mg/1) =0.002 - - - - - - - - - -
FZ7 UL (mg/1) =0.006 - - — - — - - - - -
P a A (mg/1) =0.003 — — — — — — — — — —
F AN T (mg/1) =0.02 - - - - - - - - - -
O (mg/1) =0.01 - - - - - - - - - -
L (mg/1) =0.01 - - - - - - - - - -
EES (mg/1) =1 - - <0.02 - <0.02
5o (mg/1) =0.8 - - - - - - <0.08 - <0. 08
A e 2 3R M OV e L 22 58 (mg/1) =10 1.8 1.3 1.8 1.9 1.7 1.9 1.7 2.2 2.1 2.0
HE A e e s R (mg/1) - <0. 05 <0. 05 <0. 05 0.07 0. 05 <0. 05 <0. 05 <0. 05 <0. 05 0. 05
FHEETEZE (mg/1) - 1.8 1.3 1.8 1.9 1.7 1.9 1.7 2.2 2.7 4.5
LA-2 AV (mg/1) =0.05 - - - - - - - - - -
T e =T MEEE (mg/1) - <0.04 <0.04 0. 06 0. 05 0. 05 <0.04 0. 05 0. 04 0.04 0. 06




%)

0T Hick

SRSCAEEE IR KE R AERS S (7)
POpAIEZ B 5l JIl sl iE JI
B A T i S K _JE_TE_I6 T
K H C ¥ 6H17TH | 9H25H | 12A9H | 3A6H Ty 617H 1 9A25H {12/ 10H | 3/6H Ty
B K IRE Z| 10:25 10:20 10:30 10:15 12:40 13:08 14:20 12:20 5
R - - [ i = 5 - HEf i = s -
= (m3/sec) - - - 0.097 - 0. 097 = - 0.023 = 0.023
ki c) - 29. 1 29. 1 11.0 10. 8 20. 0 28. 0 30.0 9.8 11.2 19. 8
7K L (&(e))] - 23.5 22.5 14. 8 15. 1 19.0 26. 4 26 11.8 13.0 19. 3
| - - MEAGH] | EEIHE | MAHY] | EAE Y - S F vl | MK | MEEEY] | EEFE -
BE - - e 5 i 5L i 5L e 5L - RIREA WA R AP B -
PR (cm) - >100 >100 >100 >100 100 >100 >100 >100 >100 100
p H - 6.5~8.5 8.1 8.3 8.2 8.6 8.3 8.5 9.8 8.5 8.4 8.8
A bR SR B R B (BOD) (mg/1) =5 0.6 1.1 0.4 0.8 0.7 1.4 1.7 0.6 2.0 1.4
{b2E e F 2k 5 (COD) (mg/1) - 2.5 2.1 1.7 1.8 2.0 3.4 3.8 2.7 4.3 3.6
R B (SS) (mg/1) =50 1 4 <1 <1 2 4 2 <1 1 2
AT (Do) (mg/1) =5 10. 4 11.0 11.7 13.8 11.7 11. 4 16.5 13.1 11.5 13.1
PN b (MPN/100m1) - - - 4, 900 - 4, 900 - - 1, 700 - 1, 700
N~ 20 W i i ' (mg/1) - <0.5 <0.5 <0.5 <0.5 0.5 <0.5 <0.5 <0.5 <0.5 0.5
WU > (T-P) (mg/1) - 0. 086 0.077 0. 085 0.110 0. 090 0.079 0.073 0.074 0.130 0. 089
iz 5 (T-N) (mg/1) - 3.5 3.1 4.6 4.8 4.0 2.0 2.1 3.0 3.3 2.6
S ign (mg/1) 0.03 - - 0. 002 = 0. 002 = = 0.001 = 0.001
J =)L 7 = ) — )L (mg/1) 0.002 - - <0. 00006 - <0. 00006 - - <0. 00006 - <0. 00006
Ef’f’g;’”“/t/x’w*/@ (mg/1) 0.05 - - 0.024 - 0.024 - - 0.018 - 0.018
A (mg/1) =0.003 - - <0.0003 - <0.0003 - - <0.0003 - <0.0003
BT (mg/1) B Snze o - - - <0.1 - <0.1 - - <0. 1 - <0.1
& (mg/1) =0.01 - - <0. 005 - <0.005 - - <0. 005 - <0.005
A= (mg/1) =0.05 - - <0. 02 - <0.02 - - <0. 02 = <0.02
AL (mg/1) =0.01 - - <0.005 = <0.005 = = <0.005 = <0.005
KR (mg/1) =0.0005 - - <0. 0005 - <0. 0005 - - <0. 0005 - <0. 0005
7 L L KGR (mg/1) B Shewnws & - - - - - - - - - -
PCB (mg/1) B S e & - - - - - - - - - -
rUZooaxF L (mg/1) =0.01 - - - - - - - - - -
FhIrZouoxF L (mg/1) =0.01 - - - - - - - - - -
vrzana XX (mg/1) =0.02 - - - - - - - - - -
DU Ak R SR (mg/1) =0.002 - - - - - - - - - -
1,2-Y 7 anmox X (mg/1) =0.004 - - - - - - - - - -
vi—l, 2=z xF L (mg/1) =0.04 - - - - - - - - - -
1,1-C 7 oo F L (mg/1) =0.1 - — — — - — — — — -
1,1, 1-hr V7 aaoxd X (mg/1) =1 - — — — — — — — — —
1,1,2- U Z oo & (mg/1) =0.006 — — — — - - — — — —
1,3-C 7 anm a2 (mg/1) =0.002 - — — — - — — — — -
F T A (mg/1) =0.006 — — — — - — — - - -
DA a4 (mg/1) =0.003 - - - - - - - - - -
F A X LT (mg/1) =0.02 - - - - - - - - - -
NP (mg/1) =0.01 — — — — — — — — - -
=L (mg/1) =0.01 — — — — — — — — — —
EE S (mg/1) =1 - 0.02 - 0.02 <0. 02 - <0. 02
SO (mg/1) =0.8 - - <0. 08 - <0. 08 - - <0. 08 - <0. 08
oA e P 22 SR M OV e P 28 3R (mg/1) =10 2.7 2.9 4.2 4.4 3.6 1.7 1.7 2.7 2.2 2.1
A P 1 A SR (mg/1) - 0.09 <0. 05 0. 06 0.13 0.08 <0. 05 <0. 05 0. 06 0.12 0.07
Y EEIEEE R (mg/1) - 2.7 2.9 4.2 4.3 3.5 1.7 1.7 2.7 2.1 2.1
L,4- A %Y (mg/1) =0.05 - - - - - — — — — —
T U= TR (mg/1) - 0.14 <0.04 0. 06 0.17 0.10 0. 09 0.07 0.10 0. 40 0.17




g2

7

TT #4

S FNoTAREEE

T AR ARG 2R (8)

W4 o ES Jit JI1 i JII

AT - LI R R Tk

KB C ¥ 6H17H | 9H25H | 12H9H | 3H6H Ty 617H | 9A25H | 12H9H | 3/6H Ty
R K B H) 9:55 9:50 9:30 9:50 - 12:00 12:15 12:25 11:35 -
PN - - I i = 1 - il A = [ -
S (m3/sec) - = = 0.05 = 0.05 = - el - el
SR c) - 28.9 30.5 9.2 10. 2 19.7 28. 1 28. 5 10. 2 12.6 19.9
ZK I (&(e))] - 21.5 24. 0 11.1 11.5 17.0 24.5 26. 2 12.5 15.2 19.6
4 FH - - MASBH | MEAEY | B | EASEH B2 WK MEAGHR] | MEEIHE B S WK A -
AR - - HE 53 e 5 e 5 am - e 51 m e a5 -
P (cm) - >100 >100 >100 >100 100 30 85 >100 >100 79
p H — 6.5~8.5 8.2 8.8 8.0 8.1 8.3 7.8 7.6 7.4 7.7 7.6
AWk B e 3R 2SR B (BOD) (mg/1) =5 0.5 1.5 < 0.5 0.7 0.8 2.1 2.4 2.0 4.5 2.8
=Sl E - (S )))) (mg/1) - 2.4 2.9 1.6 1.7 2.2 5.4 5.0 4.5 5.5 5.1
CEiE e & (SS) (mg/1) =50 <1 7 <1 1 3 24 18 2 3 12
WAirie s (Do) (mg/1) =5 10. 0 13.3 11.5 11.7 11. 6 8.8 7.9 9.9 8.9 8.9
PN b (MPN/100m1) - - - 340 - 340 - - 1, 300 - 1, 300
N=—~ 2 il H e & (mg/1) - <0.5 <0.5 <0.5 <0.5 0.5 <0.5 <0.5 <0.5 <0.5 0.5
2 U > (T-P) (mg/1) - 0.093 0.110 0.070 0. 100 0.093 0.130 0. 180 0. 130 0.170 0.153
Rz (T-N) (mg/1) - 3.5 2.9 3.5 3.3 3.3 2.5 2.9 6.0 5.4 4.2
ot i) (mg/1) 0.03 - - <0.001 - <0.001 - - 0.002 - 0. 002
J =)V 7 = ) — )L (mg/1) 0.002 - - <0. 00006 - <0. 00006 - - <0. 00006 - <0. 00006
gfﬁ,nﬁg”““t/”b7ﬁ/@ (mg/1) 0.05 - - 0.022 - 0.022 - - 0.13 - 0.13
A (mg/1) =0.003 - - <0. 0003 - <0.0003 - - <0.0003 - <0.0003
BT (mg/1) B Sz b - - <0. 1 - <0.1 - - <0. 1 - <0.1
&0 (mg/1) =0.01 - - <0.005 - <0.005 - - <0.005 = <0.005
P A =20 (mg/1) =0.05 - - <0. 02 - <0.02 - - <0. 02 - <0.02
it (mg/1) =0.01 - - <0. 005 - <0.005 - - <0. 005 - <0.005
KR (mg/1) =0.0005 - - <0. 0005 - <0. 0005 - - <0. 0005 - <0. 0005
7L X L KGR (mg/1) M Sz & — — — — — — — — — —
PCB (mg/1) M S ez & - - - - - - - - - -
Fr)ZoogxF L (mg/1) =0.01 - — — — — — — — — —
T hIrZouoxF L (mg/1) =0.01 - - - - - - - - - -
DA/A=R-. S (mg/1) =0.02 - - - - - - - - - -
VU Ak R 3 (mg/1) =0.002 - - - - - - - - - -
1,2-Y 7z X (mg/1) =0.004 - - - - - - - - - -
vA-l,2-Y 7 mua T F L (mg/1) =0.04 - - - - - - - - - -
1,1-Y 7o L (mg/1) =0.1 - - - - - - - - - -
LLI-hUZooTyo (mg/1) =1 - - - - - - - - - -
1,1,2-h VU Zoox X (mg/1) =0.006 - - - - - - - — — —
1,3- 7 o A (mg/1) =0.002 - - - - - - - - - -
FZ7 A (mg/1) =0.006 - - - - - - - - - -
DAV (mg/1) =0.003 - - - - - - - - - -
F AN T T (mg/1) =0.02 - - - - - - - - - -
N (mg/1) =0.01 - - - - - - - - - -
L (mg/1) =0.01 - - - - - - - - - -
ESONE (mg/1) =1 <0. 02 = <0.02 <0. 02 = <0.02
5o (mg/1) =0.8 - - <0. 08 - <0. 08 - - <0. 08 - <0.08
A PR 5 S8 M OV R R 42 58 (mg/1) =10 3.2 2.5 3.4 2.9 3.0 1.7 1.8 4.8 3.0 2.8
i e 1 A R (mg/1) - <0. 05 <0. 05 <0. 05 0. 06 0. 05 0. 05 0.11 0.16 0. 20 0.13
MY EEIEEE R (mg/1) - 3.2 2.5 3.4 2.9 3.0 1.7 1.7 4.7 2.8 2.7
LA-T A x Y (mg/1) =0.05 - - - - - - - - - -
7= T HEERE (mg/1) - <0.04 0.08 <0.04 0. 04 0. 05 0.17 0.22 0.72 1.70 0.70




Wpk 3 OAEEE MR KRS RS SR

LEAES RE AL A Ak foe B 401 i A

AR A Hb . TAEE B = A H 78 s i B 5
: HAL B B L - — - — - — - — - — R
R PE X 5y PRI EH PRI &I V&I VI
R4 H R 304E10H | FEAE304510H | SFERk304210 8 | SFERK304E10H | SFERK304E10H | 304510 A
B A P R (mS/m) - 37 27 34 31 34 35
pH - 6.5~8.5 7.3 6.7 7.4 6.7 6.7 6.6
IK iR (°C) - 18.5 18.5 23.0 18.5 18.0 19.8
BRA& - - i 5. i 51, 4HE 53, g 5, 4% B2 g B2
SR8 - - A, 15, 95, ) i) i)
BRI UL (mg/1) =0.003 <0. 0003 <0. 0003 <0.0003 - - -
BT (mg/1) M Ehzpnwo & <0.1 <0.1 <0.1 - - -
Fa) (mg/1) =0.01 <0.005 <0.005 <0. 005 - - -
Y Z=1N (mg/1) =0.05 <0.02 <0.02 <0. 02 - - -
k58 (mg/1) =0.01 <0.005 <0.005 <0. 005 - - -
K B (mg/1) =0.0005 <0. 0005 <0. 0005 <0. 0005 - - -

7 L LK ER (mg/1) M ESnpnwo & - - - - - -
PCB (mg/1) BMis vz & <0. 0005 <0. 0005 <0. 0005 - - -

IS Trmna AR (mg/1) =0.02 <0. 0002 <0.0002 <0.0002 - - -
VU M Al 5 35 (mg/1) =0.002 <0. 0002 <0. 0002 <0. 0002 - - -

=l VA=R=1-0 SR (mg/1) =0.002 <0.0002 <0.0002 <0.0002 - - -

o 1,2-Y 7o xm i (mg/1) =0.004 <0. 0002 <0. 0002 <0. 0002 - - -
,1-¥ 7oL (mg/1) =o0.1 <0.0002 <0.0002 <0.0002 - - -
1,2- 7 mmoF Lo (mg/1) =0.04 <0. 0004 <0. 0004 <0. 0004 - - -
1,1,1-FYZmuoxX (mg/1) =1 <0.0002 <0.0002 <0.0002 - - -
1,1,2-hVZuauxXx (mg/1) =0.006 <0. 0002 <0.0002 <0. 0002 - - -

[ NUEZA=R =10 R PR (mg/1) =o0.01 <0. 0002 <0.0002 <0.0002 - - -
FSho7unTFL (mg/1) =0.01 <0. 0002 <0.0002 <0. 0002 - - -
1,3-Yr7mnaral (mg/1) =0.002 <0.0004 <0.0004 <0.0004 - - -
FZ A (mg/1) =0.006 <0. 0006 <0. 0006 <0. 0006 - - -
D (mg/1) =0.003 <0.0003 <0.0003 <0.0003 - - -
FA T (mg/1) =0.02 <0.002 <0.002 <0. 002 - - -
A (mg/1) =0.01 <0.0002 <0.0002 <0.0002 - - -
R (mg/1) =0.01 <0.002 <0.002 <0. 002 - - -
L il I 2 R K ONIH e M 22 5B (mg/1) =10 5.4 3.8 5.2 9.9 9.5 9.6
5o (mg/1) =0.8 <0.08 <0.08 <0.08 - - -
[Eo =S (mg/1) =1 0.02 <0. 02 <0. 02 - - -
1,4-A %Y (mg/1) =0.05 <0.005 <0.005 <0.005 - - -
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